SuMPO

..E PD

JJJJJ

S1TNBIREEE
BHES ¢ JR-AI-25376E

VERIFIED

SuMPO EPD
(EPD)

SUMPORIESNIVTOIS s
—MRALEEAY AT IR EHEE
REHBFAEXAMET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

O=HI/ LA SRt .
(KONICAMINOLTA,INC.) AccurioPress
C5070

BEE(
Bm1asiy

BENREME
=332 mEE)
[RA R, £, RE, ER-HSEE BRIV

RAOEK, TELK-ET
A= 1 AccurioPress C5070
FEL
RS X BFEEAX(NI-EEHE)
WENRIERE (A4):./70 81ppm/H5— 71ppm

EEAAEY1XA3
W T T D Rl A2 2 2 i

FUWEDHESE

AZHWE ()

eco-support@konicaminolta.com

ERES JR-AI-25376E
EFAPCRES  PA-590000-AI-08
PCR% ENEYNEpali =
NE]=! 202651 H9H
RILEMEH  2025%12824R
REEA YATLRREEA R
RIAES JV-AI-25376
REEEEARM 20305128238

PCRLE1-DETE
REHZ 20235 98 1H
ZER g &x
(—MEAE R A Y AT F IV HEREEE)
BE=HIREE

HNEMIRELE Ak Sk

ISO14025(Z > 1= AE E R UT I DIz LR EE

ORER WA
*Y 2T LRI AR B L GRORIDH AR, YATARIETLBEED
2ETETH,

Zi&ES ¢ JR-AlI-25376E



SUMPOBRIEINITOI I A

SuMPO
EPD Slulor el AT IR
1 .‘ il ¢ F14TNBIEEE (EPD) SR REK 1148
_ VERERLED, KANDA SQUARE GATE
BHES JR-AI-25376E https://ecoleaf-label,jp
1TV IV E T MmE R
RS | WERE | amm 1E§§ﬁ BEBE
=X
SURZEED - &5 kg-CO2eq 1.23E+03 1.09E+02 7.24E+01 5.04E+03 2.27E+02
AIVEHIE kg-CFC-11eq 1.28E-04 4.17E-07 1.40E-07 5.21E-04 1.42E-06
EREL kg-PO4*-eq 3.67E-02 1.78E-02 2.98E-05 8.05E-02 2.84E-04
[i2qc (4 kg-SOzeq 1.49E+00 1.03E+00 5.51E-02 5.41E+00 1.54E-01
HALFEAFII I kg-CzHaeq 2.72E-02 6.03E-05 5.16E-04 1.04E-01 1.94E-03
FEEYE RS - LYY kg-Sbeq 2.86E-01 2.40E-04 1.24E-05 7.24E-01 1.10E-04

S1ITY1IAIRY NS REEER

—REROERICEET 551%

P . - {5/ - #5
FRRIAERR | BSERRE Tm B P E’”;: R
=X
BAEATRE—RER - IRILF- (RPRY) M) 3.19E+03 8.66E+02 2.06E+01 3.50E+04 2.08E+02
BAETE—REE - TRLE-2BME (RPRy) M) 4.95E+02 2.24E-02 2.57E-03 4.61E+01 3.15E-02
FEB/ETRE—RER - TRILF- (NRPRp) MJ 1.97E+04 2.23E+03 7.97E+02 1.20E+05 1.35E+03
BRI - TRLE-25HE (NRPR,) M) 2.25E+03 1.67E+00 9.93E-02 1.04E+04 8.14E-01

HERERCRT 3EMIER
BEOHAT : B

-ERABRBOEESE (EAE (EPA) YFUA)

-BEREOERAMESER
-TUY MERERE 2,995,20080%

-EIRAROREAREEENTLEEA
SHES, BRI ROBRIL. EH - EFEERE T ELTWET
KEBRIRNF-RY-T0J5LVer3 2(LHVEHLTWET,

-RBEFETMERIHETRNNBEETT BIEOAZSCLYVRENOREE— R ITSNIEOTRHVEEA,
e BEUBERREAOEFHR
UAZEHE GREPARCENZTD

FEORIEPReN RMEEZBALTLSNE) |

FEEREINE)

EEETIEOTRBHYZEA.

Z0fDIRIEREFER

CERIRIF-R5-T0J5 LVer3 2EA,
A RO A T EE RO EGISO14001 R AE TIBICTIThN TV ET,

wEl-mE (ERES) Bifig I5H CAS No. B
B 2.1E+02 kg - _ _
SUS 1.1E+01 kg - - -
TWIZ9h 8.5E+00 kg
ZnthEE 1.9E+01 kg FEARALEZRT-IDEZH
AR 2.7E+00 kg -IDEA v3.4, SUMPOBRIEINI TOYT LB SRR B fiv2.13% (=,
T32FvY 3.9E+01 kg
N 2.0E+01 kg
i 1.3E+01 kg E3
myA 3.6E+00 kg -
FERIRREM 7.1E+00 kg
hAE-Y 1.4E+01 kg
OT-YHEDHEF. PCRELUVEE - EEREESRBL I,

OLLRIIOVTS, BE - EEREICRENREEHLBELCLARDONE A,
(BHFURL : https://ecoleaf-label,jp/regulation/)



